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Picture-based task - Higher tier (24 marks)

There are two mark grids to be applied to this task, which are:
e communication and content
e linguistic knowledge and accuracy.

Picture-based task: communication and content - Higher tier

Mark

Descriptor

0

No rewardable material

1-4

Responds to set questions with some development, some
hesitation and some prompting necessary

Some effective adaptation of language to describe, narrate and
inform in response to the set questions

Expresses opinions with occasional, brief justification
Pronunciation and intonation are intelligible, occasionally
inaccuracies affect clarity of communication

5-8

Responds to set questions with frequently developed responses,
occasional hesitation, occasional prompting necessary

Frequently effective adaptation of language to describe, narrate
and inform in response to the set questions

Expresses opinions and gives justification with some development
Pronunciation and intonation are intelligible, inaccuracies are
minimal and have no impact on clarity of communication

9-12

Responds to set questions with mostly developed and fluent
responses, minimal hesitation and minimal prompting necessary
Predominantly effective adaptation of language to describe,
narrate and inform, in response to the set questions

Expresses opinions effectively and gives justification which is
mostly developed

Pronunciation and intonation are intelligible and predominantly
accurate

13-16

Responds to the set questions with consistently fluent and
developed responses

Consistently effective adaptation of language to describe, narrate
and inform, in response to the set questions

Expresses opinions with ease and gives fully-developed
justification

Pronunciation and intonation are consistently accurate and
intelligible

Additional guidance

Adaptation of language to describe, narrate and inform: adapts language to
achieve different purposes in the language; students may adapt language more
effectively for one purpose than another, for example they may use language
effectively to inform but less effectively to narrate.
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picture-based task: linguistic knowledge and accuracy - Higher tier

Mark Descriptor
0 No rewardable material
1-2 e Some accurate grammatical structures, including some successful

references to past, present and future events in response to the
set questions, some ambiguity

e Responses are partially coherent, errors occur that sometimes
hinder clarity of communication and occasionally prevent meaning
being conveyed

o Generally accurate grammatical structures, generally successful

3-4 references to past, present and future events in response to the
set questions, occasional ambiguity

e Responses are generally coherent although errors occur that
occasionally hinder clarity of communication

5-6 e Predominantly accurate grammatical structures, mostly successful
references to past, present and future events in response to the
set questions o

e Responses are predominantly coherent, errors occur but they
rarely hinder clarity of communication

7-8 e Consistently accurate grammatical structures, successful
references to past, present and future events in response to the
set questions

e Responses are coherent, any errors do not hinder the clarity of the
communication

Additional guidance

Errors: students are not expected to produce perfect, error-free speech in order to
access the top band as errors are also made by native speakers. The mark grid
describes the frequency of errors and the impact that errors have on clarity.

Errors that do not hinder clarity:

o errors that do not affect meaning, for example gender, adjectival agreements

¢ infrequent errors that do not distract the listener from the content of what is
being said.

Errors that hinder clarity:

o errors that make speech difficult to understand immediately (even if the meaning
is eventually understood)/errors that force listeners to strain to understand what is
meant, for example inappropriate tense formation, mismatch of subject and the
possessive adjective

o frequent errors hinder clarity as they distract the listener from the content of what
is being said.

Errors that prevent meaning being conveyed:

o errors that mean the listener cannot understand the message

e errors that convey the wrong message

« errors that make it unclear who is doing the action, i.e. using the incorrect person
of the verb

s mother-tongue interference.

NB: these are examples only and do not constitute a finite list.
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Conversation - Higher tier (36 marks)

There are three mark grids to be applied to this task, they are:
e communication and content

e interaction and spontaneity

e linguistic knowledge and accuracy.

Conversation: communication and content - Higher tier

Mark Descriptor
0 No rewardable material
1-3 e Communicates information relevant to the topics and questions,

with occasionally extended sequences of speech

e Uses language to produce straightforward ideas, thoughts and
opinions with occasional justification

e Uses a limited variety of mainly straightforward vocabulary,
communication for some purposes is constrained because of
restricted range of vocabulary

e Pronunciation and intonation are intelligible, occasionally
inaccuracies affect clarity of communication

e Communicates information relevant to the topics and questions,

4-6 with some extended sequences of speech

e Occasionally uses language creatively to express some individual
thoughts, ideas and opinions, some of which are justified

e Occasional variety in use of vocabulary, including some examples of
uncommon language with some variation of expression, fulfils
most purposes

e Pronunciation and intonation are intelligible, inaccuracies are
minimal and have no impact on clarity of communication

7-9 e Communicates detailed information relevant to the topics and
questions, usually with extended sequences of speech

e Frequently uses language creatively to express and _]UStlfy a varlety \
of individual thoughts, ideas and opinions ‘

e Uses a«variety of vocabulary, including frequent use df uncommon
Ianguage to regularly vary expression for different purpeses -

e Pronunciation and intonation are intelligible and predominantly
accurate

10-12 e Communicates detailed information relevant to the topics and
questions, consistently extended sequences of speech

e Consistently uses language creatively to express and justify a wide
variety of individual thoughts, ideas and opinions

e Consistently uses a wide variety of vocabulary, including uncommon
language, to consistently vary expression for different purposes

e Pronunciation and intonation are consistently accurate and
intelligible

Pearson Edexcel Level | /Level 2 GCSE (9-1) in French — Sample Assessment Materials —
Issue | — April 2016 © Pearson Education Limited 2016



nal guidance

Janguage creatively: examples of creative language use are:

using language to create an effect

y manipulating language, including familiar, high frequency and simple language,
to respond to unfamiliar/unexpected contexts and purposes

using language to express thoughts, ideas, feelings and emotions

using language to inform and narrate ideas, thoughts and points of view to

maintain interest

applying a variety of vocabulary and structures to maintain interest

using language effectively to achieve more complex purposes, for example to

interest,

to convince.

Individual thoughts, ideas and opinions: this is linked to creative use of language
whereby students use language to express original thoughts, ideas and points of
view that go beyond the minimum/standard/predictable response.

Straightforward ideas, thoughts and opinions are those that give the
minimum/standard/predictable response.

Pearson Edexcel Level |/Level 2 GCSE (9-1) in French — Sample Assessment Materials

Issue | — April 2016 © Pearson Education Limited 20 I:E



Conversation: interaction and spontaneity - Higher tier

Mark Descriptor
0 No rewardable material
1-3 e Occasionally able to respond spontaneously with some examples of
natural interaction although often stilted
e Occasionally able to initiate and develop responses independently
but regular prompting needed
e Occasionally able to sustain communication, using
rephrasing/repair strategies if necessary to continue the flow;
frequent hesitation
4-6 e Responds spontaneously to some questions, interacting naturally
for parts of the conversation
e Sometimes able to initiate and develop the conversation
independently, some prompting needed
e Sometimes able to sustain communication, using rephrasing/repair
strategies if necessary to continue the flow; some hesitation
7-9 e Responds to most questions spontanedusly, resulting in mostly
natural interaction
e Mostly able to initiate and develop the conversation independently
e Able to sustain communication throughout most of the
conversation, using rephrasing/repair strategies if necessary to
continue the flow, occasional hesitation
10-12 e Responds spontaneously and with ease to questions, resulting in
natural interaction
e Consistently able to initiate and develop the conversation
independently
e Able to sustain communication throughout, using rephrasing/repair
strategies if necessary to continue the flow

Additional guidance

Respond(s) spontaneously: gives a relevant, impromptu response based on
what they have heard.

Rephrasing/repair strategies are strategies that aid communication and allow
the conversation to be sustained, for example rephrasing, circumlocution, adjusting
the message, asking for clarification/repetition, repair strategies such as self-
correction; these strategies enable students to deliver the message when exact
vocabulary or expressions are not known.
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conversation: linguistic knowledge and accuracy - Higher tier

Mark Descriptor e |
0 No rewardable material
1-3 o Manipulates a limited variety of mainly straightforward grammatical

structures, minimal use of complex structures

e Some accurate grammatical structures, some successful references
to past, present and future events, some ambiguity

e Sequences of coherent speech although errors occur that often
hinder clarity of communication and occasionally prevent meaning
being conveyed

e Manipulates grammatical structures with occasional variation,

4-6 complex structures used but repetitive

e Generally accurate grammatical structures, generally successful
references to past, present and future events

o Generally coherent speech although errors occur that sometimes
hinder clarity of communication :

7-9 e Manipulates a variety of grammatical structures, some variety of
complex structures

e Predominantly accurate grammatical structures, mostly successful
references to past, present and future events Pro € -

e Predominantly coherent speech; errors occur but they rarely hinder
clarity of communication

10-12 e Manipulates a wide variety of grammatical structures, frequent use pet
of complex structures anlie

e Consistently accurate grammatical structures, consistently -
successful references to past, present and future events

e Fully coherent speech; any errors do not hinder the clarity of the
communication

Additional guidance

Complex grammatical structures are considered to be:

o all grammar and structures that are included in the grammar list which are specific
to Higher tier GCSE

o varied and complex word order

o using extended sentences that include a range of structures, for example
conjunctions, pronouns, reported speech and/or a range of lexis, for example to
express abstract ideas/convey justified arguments

o conceptually more challenging language

Straightforward grammatical structures are considered to be:

o repetitive, simple word order

o short, simple sentences that use a repetitive range of common,
high-frequency structures

o simple ideas, opinions and thoughts that are expressed but are not justified.
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